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Note :— (1) Question No.1 is compulsory. Attempt any 9 out of

1. @
(i)
(i)
(v)
)

2

€)

total 15 questions. Each has 2 marks and the answer
should be in 10-20 words.

Rest of the paper is divided into four Units. Each has
two questions. Attempt any one of 18 marks each.

For private and reappear candidates, who have not
been assessed earlier for internal assessment, the marks
secured by them in theory paper will proportionately
be increased to maximum marks of the paper in lieu
of Internal assessment.

(Compulsory Question)

What do you mean by Charismatic Power ?
What is the origin of the Word Authority ?

Write down any four characteristics of political culture ?

2
2
What is the meaning of the structural legitimacy ? 2
2
2

What do you mean by Secular Political Culture ?
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(vi) What do you mean by Latent Political Socialisation. 2

(vii) Write down the meaning of Fundamental Rights. . 2~
(vii) When the Universal Declaration of Human Rights was adopted
by United Nations ? 2
(ix) What is the nature of Universal Declaration of Human
Rights ? 2.
(x) What is the origin of the Word Duty ? 2
(xi) What do you mean by Negative Theory of Liberty ? 2
(xii) Write down the meaning of Equality. 2
(xiii) What do you mean by Social Justice ? 2
(xiv) Write down any four features of Social Change. 2

(xv) What do you mean by the Elitist Theory of Democracy ?
2

UNIT-I |
What do you mean by the crisis of legitimacy ? What are the
causes responsible for it ? 6+12=18

Define Political Socialisation and explain its characteristics.

6+12=18

UNIT-II
"Rights and Duties are the two sides of the same coin." Explain.
18

What do you mean by Universal Declaration of Human Rights ?
What is its importance ? 6+12=18

0134/BIK-33487 2



UNIT-III
. 6. Define Liberty and write down its various safeguards.6+12=18

7. What is the relationship between Economic equality and Political

liberty ? 18
UNIT-1V

8.  What do you mean by Social Change ? Write down the nature

of Social Change. 6+12=18

9. What are the necessary conditions for the success of
Democracy ? 18

R wrem)
Note :— (1) 9o A 13ad 21157 @ 92 9 yo #X, 8
T $ 2 3F &1 IOX N 10-20 IR F B
(2) I 9-1 F =R gFT F1 8 g ¥ & g
g1 8 I F § @ U | B W B 18
IF B
@) TRde @ V-afax el R sieet geaie
F FF TG AN, ITS g0 forid whem ¥ wra st
F FUA FTER AF @ A W

(FREE 3w)

1. @) et ol & smuer w7 sl 2 ? 2
() @7 UK F AT 7 8 7 2
(i) @rETa Mfacy d Fur o § ? 2
(v) Torfiids dwpld A A IR fRAPwad R 2
v o woffes s & w3 afwm 2 2 2
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V) TG TAfGF Tl & s 7w sfom @2

o« g

(i) FF TRER w1 e Ry %
(ﬁ)mmﬁmmﬁﬁgﬁwm
I AT QTS R 7 2
@) HE AT A wdes G o @ww P o
x) FTT WK F g T g ? 2
(d) T P AEROE RE A A F s
g ? 2
(xi) FFAT B A Ry 2
(i) TN = & e T afwm 2 2 2

(xiv) TIRE WRadT # A IR v e 2
(xv)mrﬁ%ﬁmaﬁqmﬁ%mww&m
g 7 2

e
W%W@mwa&m%?mmﬁ?—%
RO e & ? 6+12=18

Tl wAeiE A aRemr ¥ R s Rewant @

ELE S 6+12=18
eIl

PR M A T & R F A e F 1 amen W

18

W&Wﬁmﬁwﬁwwsﬁm%?
TEHh1 FT Heed B 7 6+12=18
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g1
6. .Wﬁmmﬁtmﬁﬁﬁﬁwﬁﬁl
: 6+12=18

7. e §EEd AR UoAfod Woaar @ §9 F gy

g7 18
-1V

8. Wqﬁaﬁ%mwm%?mqﬁaﬁ#

& @Wey 9 fod | 6+12=18

9. WHdd I TEAA P AU @S Id -G 2 7 18

(dnret ngere)
dz:- (1) yms 3. 1agdt 31 15 R a&t 9 yAs &<

I YHs ¢ 2 399 I51 €39 &asar 10-20 maet
&g =R

(2) =<t WS ® 99 glee I51 39 glse R € yms
I5| 9 Glee R IFt fea yus 91 I3 YRS
T 18 nigd T3|

(3) yfeRe m3 J-npimig fefenradntt 2, frgst <t
niegat H&aE € 389 & Bdl, Qast Enrar feust
Yifemr &9 yuz daat T nigus nigAg, Bast €
riegst weige € sAe d¥9 I &3 wad

(@F=it ymrs)
1. () fogmet mast 3 303 o 3@ J ? 2
(i) F3T mEE € WS of I ? 2
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(ﬁi)mragﬁssza"r_nma? 2
(iv)amﬁfsaﬁﬁnmm&ﬁwf%ﬁmfwﬁlz
(v)muam?ﬁﬁaﬁ@mwé*mﬁma"? 2
(ﬁ)mamﬁf‘s’amﬁm?mé?m%? 2
(vii) Ffsx nifgarst & new fodi 2
(i) W& wiftret & Aeefermud WEE § FUa3 IHST
g g Ha3T fEst aEt A ? 2
(ix) Mn@ﬁ@m&»ﬂu&ﬂm@@ﬁ@u%?
2

(x) 93T HEE T MG of I ? 2
(xi) Wémm?wﬁﬁ%?z
(xi)) AHE3T ¥ ngg f&u) 2
(i) M fant 3 3o ot I I 2 2

(xiv)m'ﬁauﬁemé»ﬁiéfwfeﬁaa@ﬁa&l 2
(xv)isas’sa%f‘eﬁmzaaarﬁu*??ma"fﬁé?

2

gfse-1
2. Qﬁzwéﬁaz?ma?w%?fwsﬂm?m
fiReg I8 ? 6+12=18

3. gmdfIx AHEegs o ufgsmr fe@ ni3 fem dit fermse
T IIES A | 6+12=18
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gfse-1
4. ‘“nifgarg I J93< fea It fAx @ € U T&1” fonrfumr a3 |
18

5. vl nifgerat €t AIefeniud wEET 3 30T ot I I 7 feRer

ot Hdze T 7 6+12=18
gfee-111

6. w3393 T ufgsE fod »i3 ferm dhr fefds mefimret fad

6+12=18

7. nIfET AHEIT i3 IHASHSS A3I393T © @9 ot AIg I

18

gfse-1v
8. AHfax ufgedss I I3 of g T ? AHNTAa ufgedss =
Ay e 6+12=18

9. BI3I37 T ASHIT BT wgdt ISt faaFt & ? 18
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